# A Common Fixed Point Theorem for Three Self Maps in Cone Rectangular Metric Space

M. Rangamma<sup>1</sup>, P. Mallikarjun Reddy<sup>2\*</sup>

<sup>1, 2</sup> Department of Mathematics, Osmania University Hyderabad, Telangana, INDIA

Corresponding author's email: pagidimallik [AT] gmail.com

ABSTRACT— In this paper, we prove a common fixed point theorem for three self mappings in cone rectangular metric space. Our result generalizes and extends recent known results.

Keywords— cone rectangular metric space, normal cone, common fixed point theorem, coincidence point.

### 1. INTRODUCTION

In 1906, the French mathematician M. Frenchet [4] introduced the concept of metric spaces. In this sequel, Branciari [3] introduced a class of generalized metric spaces by replacing triangular inequality of metric spaces by similar one which involves four or more points instead of three points and improved Banach Contraction Principle in such spaces. In 2007, Huang and Zhang [5] introduced the notion of cone metric spaces. They have replaced real number system by an ordered Banach space and established some fixed point theorems for contractive type mappings in a normal cone metric space. The study of fixed point theorems in such spaces is followed by some other mathematicians; see [1], [5], [6], [9], [13], [14], [16], [18].

Recently, A. Azam, M. Arshad and I. Beg [2] extended the notion of cone metric spaces by replacing the triangular inequality by a rectangular inequality and they proved Banach contraction Principle in a complete normal cone rectangular metric space. Several authors proved some fixed point theorems in such spaces see; [7], [10], [11], [12], [15], [17]. In 2012, R. A. Rashwan and S. M. Saleh [15] extended Banach Contraction Principle in cone rectangular metric space to two self mappings. In this paper we generalize and extended theorem 3 of Azam et al. [2] for three self mappings.

#### 2. PRILIMINARIES

First, we recall some standard definitions and other results that will be needed in the sequel.

- **2.1. Definition [5]:** A subset P of a real Banach space E is called a 'cone' if it has following properties:
  - (1) P is nonempty, closed and  $P \neq \{\theta\}$ ;
  - (2)  $a, b \in R$ ,  $a, b \ge 0$ ,  $x, y \in P$  implies  $ax + by \in P$ ;
  - (3)  $P \cap (-P) = \{\theta\}$ .

For a given cone  $P \subseteq E$ , we can define a partial ordering  $\leq$  on E with respect to P by  $x \leq y$  if and only if  $y - x \in P$ . We shall write x < y if  $x \leq y$  and  $x \neq y$ , while x < y will stands for  $y - x \in I$  int I(P), where I(P) denotes the interior of I(P).

**2.2. Definition [5]:** The cone P is called 'normal' if there is a number k > 1 such that for all x,  $y \in E$ ,  $0 \le x \le y$  implies  $||x|| \le k ||y||$ .

The least positive number k satisfying the above condition is called the 'normal constant' of P.

- **2.3. Proposition [15]:** Let (X, d) be a cone metric space with cone P is not necessary to be normal. Then for  $a, c, u, v, w \in E$ , we have
  - (1) If  $a \le \lambda a$  and  $\lambda \in [0,1)$ , then  $a = \theta$ .
  - (2) If  $\theta \le u \ll c$ , for each  $\theta \ll c$ , then  $u = \theta$ .
  - (3) If  $u \le v$  and  $v \ll w$ , then  $u \ll w$ .
- **2.4. Definition [5]:** Let X is a nonempty set, E is a real Banach space and P is a cone in E with int  $P \neq \Phi$  and  $\leq$  is a partial ordering with respect to P. Suppose that the mapping  $d: X \times X \to E$  satisfies:
  - (1)  $\theta \le d(x, y)$ , for all  $x, y \in X$  and  $d(x, y) = \theta$  if and only if x = y;
  - (2) d(x, y) = d(y, x), for all  $x, y \in X$ ;
  - (3)  $d(x, y) \le d(x, z) + d(z, y)$ , for all  $x, y, z \in X$ .

Then d is called a 'cone metric' on X and (X, d) is called a 'cone metric space'.

- **2.5. Definition [2]:** Let X is a nonempty set, E is a real Banach space and P is a cone in E with int  $P \neq \Phi$  and  $\leq$  is a partial ordering with respect to P. Suppose that the mapping  $d: X \times X \to E$  satisfies:
  - (1)  $\theta \le d(x, y)$ , for all  $x, y \in X$  and  $d(x, y) = \theta$  if and only if x = y;
  - (2) d(x, y) = d(y, x), for all  $x, y \in X$ ;
- (3)  $d(x, y) \le d(x, w) + d(w, z) + d(z, y)$ , for all  $x, y \in X$  and for all distinct points  $w, z \in X \{x, y\}$  [rectangular inequality].

Then d is called a 'cone rectangular metric' on X and (X, d) is called a 'cone rectangular metric space'.

**2.6. Example [2]:** Let X = N,  $E = R^2$  and  $P = \{(x, y): x, y \ge 0\}$  is a normal cone in E. Define  $d: X \times X \to E$  as follows:

$$d(x, y) = \begin{cases} (0, 0) & \text{if } x = y \\ (3, 9) & \text{if } x \text{ and } y \text{ are in } \{1, 2\}, x \neq y \\ (1, 3) & \text{otherwise} \end{cases}$$

Now, (X, d) is a cone rectangular metric space, but (X, d) is not a cone metric space because it lacks the triangular property:

$$(3, 9) = d(1, 2) > d(1, 3) + d(3, 2) = (1, 3) + (1, 3) = (2, 6),$$

as  $(3, 9) - (2, 6) = (1, 3) \in P$ .

- **2.7. Definition [2]:** Let (X, d) be a cone rectangular metric space. Let  $\{x_n\}$  be a sequence in (X, d) and  $x \in X$ . If for every  $c \in E$ , with  $\theta << c$  there is  $n_0 \in N$  such that for all  $n > n_0$ ,  $d(x_n, x) << c$ , then  $\{x_n\}$  is said to be convergent,  $\{x_n\}$  converges to x and x is the limit of  $\{x_n\}$ . We denote this by  $\lim_{n \to \infty} x_n = x$  or  $x_n \to x$ , as  $n \to \infty$ .
- **2.8. Definition [2]:** Let (X, d) be a cone rectangular metric space. Let  $\{x_n\}$  be a sequence in (X, d). If for every  $c \in E$ , with  $\theta << c$  there is  $n_0 \in N$  such that for all  $m, n > n_0$ ,  $d(x_n, x_m) << c$ , then  $\{x_n\}$  is called a Cauchy sequence in (X, d).

- **2.9. Definition [2]:** Let (X, d) be a cone rectangular metric space. If every Cauchy sequence is convergent in (X, d), then (X, d) is called a complete cone rectangular metric space.
- **2.10. Lemma [2]:** Let (X, d) be a cone rectangular metric space and P be a normal cone with a normal constant k, let  $\{x_n\}$  be a sequence in X. Then  $\{x_n\}$  converges to x if and only if  $\|d(x_n, x)\| \to 0$ , as  $n \to \infty$ .
- **2.11. Lemma [2]:** Let (X, d) be a cone rectangular metric space, P be a normal cone with a normal constant k. Let  $\{x_n\}$  be a sequence in X. Then  $\{x_n\}$  is a Cauchy sequence if and only if  $\|d(x_n, x_m)\| \to 0$ , as  $n, m \to \infty$ .
- **2.12. Definition [8]:** Let T and S are self maps of a nonempty set X. If w = Tx = Sx, for some  $x \in X$ , then x is called a 'coincidence point' of T and S and w is called a 'point of coincidence' of T and S.
- **2.13. Definition [8]:** Two self mappings T and S are said to be 'weakly compatible' if they commute at their coincidence points, that is, Tx = Sx implies that TSx = STx.

#### 3. MAIN RESULT

In this section we establish a common fixed point theorem for three self mappings in cone rectangular metric space. The following theorem extends and improves Theorem 3 of [2].

**3.1. Theorem:** Let (X, d) be a cone rectangular metric space and P be a normal cone with a normal constant k. Let S, T, and U:  $X \rightarrow X$  be three self mappings of X satisfying the following conditions:

(1). 
$$d(Sx, Ty) \le \lambda d(Ux, Uy)$$
,  
(2).  $d(Sx, Sy) \le \lambda d(Ux, Uy)$ ,  
and (3).  $d(Tx, Ty) \le \lambda d(Ux, Uy)$ ,

for all  $x, y \in X$ , where  $\lambda \in [0,1)$ . If  $S(X) \cup T(X) \subseteq U(X)$  and  $S(X) \cup T(X)$  or U(X) is a complete subspace of X, then the mappings S, T and U have a unique coincidence point in X. Moreover, if (S, U) and (T, U) are weakly compatible pairs then S, T and U have a unique common fixed point in X.

**Proof:** Let  $x_0$  be any arbitrary point of X. Since,  $S(X) \cup T(X) \subseteq U(X)$ , starting with  $x_0$  we define the sequence  $\{y_n\}$  such that,

$$y_{2n} = Sx_{2n} = Ux_{2n+1},$$
 and 
$$y_{2n+1} = Tx_{2n+1} = Ux_{2n+2}, \text{ for all } n \ge 0.$$

We shall prove that  $\{y_n\}$  is a Cauchy sequence in X.

Suppose that  $y_m = y_{m+1}$ , for some  $m \in N$ .

If m = 2k, then  $y_{2k} = y_{2k+1}$ , for some  $k \in \mathbb{N}$ , then from (1) we get,

$$\begin{split} d(y_{2k+2}, y_{2k+1}) &= d(Sx_{2k+2}, Tx_{2k+1}) \\ &\leq \lambda d(Ux_{2k+2}, Ux_{2k+1}) \\ &= \lambda d(y_{2k+1}, y_{2k}) = \theta. \end{split}$$

So that  $y_{2k+2} = y_{2k+1}$ .

Similarly, we can deduce that  $y_{2k+2} = y_{2k+3} = y_{2k+4}$ ....

Hence,  $y_n = y_m$ , for all  $n \ge m$ .

Thus  $\{y_n\}$  is a Cauchy sequence in X in this case.

Assume that,  $y_n \neq y_{n+1}$ , for all  $n \in \mathbb{N}$ .

Then from (1) it follows that,

$$d(y_{2k}, y_{2k+1}) = d(Sx_{2k}, Tx_{2k+1})$$

$$\leq \lambda d(Ux_{2k}, Ux_{2k+1})$$
*i.e.*,  $d(y_{2k}, y_{2k+1}) \leq \lambda d(y_{2k-1}, y_{2k}),$  (4)

for all  $k \ge 1$ .

Also we have, 
$$d(y_{2k+1}, y_{2k+2}) = d(Tx_{2k+1}, Sx_{2k+2})$$
  
 $= d(Sx_{2k+2}, Tx_{2k+1})$   
 $\leq \lambda d(Ux_{2k+2}, Ux_{2k+1})$ 

i.e., 
$$d(y_{2k+1}, y_{2k+2}) \le \lambda d(y_{2k}, y_{2k+1}),$$
 (5)

for all  $k \ge 1$ .

Using (4) and (5) we get,

$$d(y_{2k}, y_{2k+1}) \le \lambda d(y_{2k-1}, y_{2k})$$

$$\le \lambda^2 d(y_{2k-2}, y_{2k-1})$$

$$\vdots$$

$$\le \lambda^{2k} d(y_0, y_1),$$
(6)

for all  $k \ge 1$ .

Also we have, 
$$d(y_{2k+1}, y_{2k+2}) \le \lambda d(y_{2k}, y_{2k+1})$$
  
 $\le \lambda^2 d(y_{2k-1}, y_{2k})$   
 $\vdots$   
 $\le \lambda^{2k+1} d(y_0, y_1),$  (7)

for all  $k \ge 1$ .

From (6) and (7) we have,

$$d(y_{n}, y_{n+1}) \le \lambda^{n} d(y_{0}, y_{1}),$$
 (8)

for all  $n \ge 1$ .

Using (2), (8), rectangular inequality and using the fact that  $\lambda < 1$ , we get,

$$\begin{split} d(y_{2k}, y_{2k+2}) &\leq \lambda d(Sx_{2k}, Sx_{2k+2}) \\ &\leq \lambda d(Ux_{2k}, Ux_{2k+2}) \\ &\leq \lambda d(y_{2k-1}, y_{2k+1}) \\ &\leq \lambda \Big[ d(y_{2k-1}, y_{2k}) + d(y_{2k}, y_{2k+2}) + d(y_{2k+2}, y_{2k+1}) \Big] \end{split}$$

which implies that,

$$d(y_{2k}, y_{2k+2}) \leq \frac{\lambda}{1-\lambda} \Big[ d(y_{2k-1}, y_{2k}) + d(y_{2k+1}, y_{2k+2}) \Big]$$

$$\leq \frac{\lambda}{1-\lambda} \Big[ \lambda^{2k-1} d(y_0, y_1) + \lambda^{2k+1} d(y_0, y_1) \Big]$$

$$\leq \frac{1}{1-\lambda} \Big[ \lambda^{2k} d(y_0, y_1) + \lambda^{2k+2} d(y_0, y_1) \Big]$$

$$\leq \frac{\lambda^{2k}}{1-\lambda} (1+\lambda^2) d(y_0, y_1),$$

$$\leq \frac{\lambda^{2k}}{1-\lambda} (1+\lambda) d(y_0, y_1),$$
(9)

for all  $k \ge 1$ .

Using (3) and (9) we get,

$$\begin{split} d(y_{2k+1}, y_{2k+3}) &= d(Tx_{2k+1}, Tx_{2k+3}) \\ &\leq \lambda d(Ux_{2k+1}, Ux_{2k+3}) \\ &= \lambda d(y_{2k}, y_{2k+2}) \end{split}$$

$$\leq \frac{\lambda^{2k+1}}{1-\lambda} (1+\lambda) d(y_0, y_1), \tag{10}$$

for all  $k \ge 1$ .

Therefore from (9) and (10) we get,

$$d(y_{n}, y_{n+2}) \le \frac{\lambda^{n}}{1 - \lambda} (1 + \lambda) d(y_{0}, y_{1}), \tag{11}$$

for all  $n \ge 1$ .

For the sequence  $\{y_n\}$  we consider  $d(y_n, y_{n+n})$  in two cases.

If p is odd say 2m + 1, for  $m \ge 1$ , then by using rectangular inequality and (8) we get,

$$\begin{split} d(y_{n}, y_{n+2m+1}) &\leq d(y_{n+2m+1}, y_{n+2m}) + d(y_{n+2m}, y_{n+2m-1}) + d(y_{n+2m-1}, y_{n}) \\ &\leq d(y_{n+2m}, y_{n+2m+1}) + d(y_{n+2m-1}, y_{n+2m}) + d(y_{n+2m-1}, y_{n+2m-2}) \\ &\quad + d(y_{n+2m-2}, y_{n+2m-3}) + \dots + d(y_{n+2}, y_{n+1}) + d(y_{n+1}, y_{n}) \\ &= d(y_{n}, y_{n+1}) + d(y_{n+1}, y_{n+2}) + \dots + d(y_{n+2m-1}, y_{n+2m}) + d(y_{n+2m}, y_{n+2m+1}) \\ &\leq \lambda^{n} d(y_{0}, y_{1}) + \lambda^{n+1} d(y_{0}, y_{1}) + \lambda^{n+2} d(y_{0}, y_{1}) + \dots + \lambda^{n+2m-1} d(y_{0}, y_{1}) + \lambda^{n+2m} d(y_{0}, y_{1}) \\ &= \left[ 1 + \lambda + \lambda^{2} + \dots + \lambda^{2m-1} + \lambda^{2m} \right] \lambda^{n} d(y_{0}, y_{1}) \\ &\leq \left[ 1 + \lambda + \lambda^{2} + \lambda^{3} + \dots \right] \lambda^{n} d(y_{0}, y_{1}) \\ &\leq \frac{\lambda^{n}}{1 - \lambda} d(y_{0}, y_{1}). \end{split}$$

Hence, 
$$d(y_n, y_{n+2m+1}) \le \frac{3\lambda^n}{1-\lambda} d(y_0, y_1),$$
 (12)

for all  $n \ge 1, m \ge 1$ .

If p is even say 2m, for  $m \ge 1$ , then by using rectangular inequality, (8), (11), and using the fact that  $\lambda < 1$ , we get,

$$\begin{split} d(y_{n}, y_{n+2m}) &\leq d(y_{n+2m}, y_{n+2m-1}) + d(y_{n+2m-1}, y_{n+2m-2}) + d(y_{n+2m-2}, y_{n}) \\ &\leq d(y_{n+2m-1}, y_{n+2m}) + d(y_{n+2m-2}, y_{n+2m-1}) + \dots + d(y_{n+4}, y_{n+3}) + d(y_{n+3}, y_{n+2}) + d(y_{n+2}, y_{n}) \\ &= d(y_{n}, y_{n+2}) + d(y_{n+2}, y_{n+3}) + \dots + d(y_{n+2m-2}, y_{n+2m-1}) + d(y_{n+2m-1}, y_{n+2m}) \\ &\leq \frac{\lambda^{n}}{1 - \lambda} (1 + \lambda) d(y_{0}, y_{1}) + \left[\lambda^{n+2} d(y_{0}, y_{1}) + \lambda^{n+3} d(y_{0}, y_{1}) + \dots + \lambda^{n+2m-2} d(y_{0}, y_{1}) + \lambda^{n+2m-1} d(y_{0}, y_{1})\right] \\ &= \frac{\lambda^{n}}{1 - \lambda} (1 + \lambda) d(y_{0}, y_{1}) + \left[\lambda^{2} + \lambda^{3} + \dots + \lambda^{2m-2} + \lambda^{2m-1}\right] \lambda^{n} d(y_{0}, y_{1}) \\ &\leq \frac{\lambda^{n}}{1 - \lambda} (1 + \lambda) d(y_{0}, y_{1}) + \left[1 + \lambda + \lambda^{2} + \lambda^{3} + \dots\right] \lambda^{n} d(y_{0}, y_{1}) \\ &\leq \frac{1 + \lambda}{1 - \lambda} \lambda^{n} d(y_{0}, y_{1}) + \frac{\lambda^{n}}{1 - \lambda} d(y_{0}, y_{1}) \\ &= \left[\frac{2 + \lambda}{1 - \lambda}\right] \lambda^{n} d(y_{0}, y_{1}) \end{split}$$

Hence, 
$$d(y_n, y_{n+2m}) \le \frac{3\lambda^n}{1-\lambda} d(y_0, y_1),$$
 (13)

for all  $n \ge 1, m \ge 1$ .

Therefore, from (12) and (13) we have,

$$d(y_{n}, y_{n+p}) \le \frac{3\lambda^{n}}{1-\lambda} d(y_{0}, y_{1}), \tag{14}$$

for all  $n \in N$ ,  $p \in N$ .

Since, P is a normal cone with a normal constant k and  $0 \le \lambda < 1$ , we have

$$\|d(y_n, y_{n+p})\| \le \frac{3k\lambda^n}{1-\lambda} \|d(y_0, y_1)\| \to 0, \text{ as } n \to \infty,$$

$$i.e., \|d(y_n, y_{n+p})\| \to 0, \text{ as } n \to \infty, \ \forall p \in N.$$

$$(15)$$

Hence,  $\{y_n\}$  is a Cauchy sequence in X.

Suppose, U(X) is a complete subspace of X, there exists  $z \in U(X)$  such that

$$\lim y_{_{n}} = z \tag{16}$$

Also, we can find  $x \in X$  such that z = Ux

(17)Now, we prove x is a coincidence point of pairs (S, U) and (T, U).

That is we prove, Sx = Tx = Ux = z.

First we prove Sx = z.

Using rectangular inequality, (1) and (17) we get,

$$\begin{split} d(Sx,z) &\leq d(Sx,y_{2n-1}) + d(y_{2n-1},y_{2n}) + d(y_{2n},z) \\ &= d(Sx,Tx_{2n-1}) + d(y_{2n-1},y_{2n}) + d(y_{2n},z) \\ &\leq \lambda d(Ux,Ux_{2n-1}) + d(y_{2n-1},y_{2n}) + d(y_{2n},z) \\ &= \lambda d(z,y_{2n-2}) + d(y_{2n-1},y_{2n}) + d(y_{2n},z), \text{ for all } n \geq 1. \end{split}$$

Since, P is a normal cone with a normal constant k, using (15) and (16) we get,

$$||d(Sx,z)|| \le k [\lambda ||d(z,y_{2n-2})|| + ||d(y_{2n-1},y_{2n})|| + ||d(y_{2n},z)||] \to 0, \text{ as } n \to \infty,$$
i.e.,  $||d(Sx,z)|| = \theta$ 
i.e.,  $Sx = z$ .

Hence, Sx = Ux = z(18)

Now we prove, Tx = z.

Using rectangular inequality, (1) and (17) we get,

$$d(Tx,z) \le d(Tx, y_{2n}) + d(y_{2n}, y_{2n+1}) + d(y_{2n+1}, z)$$

$$= d(Tx, Sx_{2n}) + d(y_{2n}, y_{2n+1}) + d(y_{2n+1}, z)$$

$$= d(Sx_{2n}, Tx) + d(y_{2n}, y_{2n+1}) + d(y_{2n+1}, z)$$

$$\le \lambda d(Ux_{2n}, Ux) + d(y_{2n}, y_{2n+1}) + d(y_{2n+1}, z)$$

$$= \lambda d(y_{2n-1}, z) + d(y_{2n}, y_{2n+1}) + d(y_{2n+1}, z), \text{ for all } n \ge 1.$$

Since, P is a normal cone with a normal constant k, using (15) and (16) we get,

$$||d(Tx,z)|| \le k \left[ \lambda ||d(y_{2n-1},z)|| + ||d(y_{2n},y_{2n+1})|| + ||d(y_{2n+1},z)|| \right] \to 0, \text{ as } n \to \infty,$$
i.e.,  $||d(Tx,z)|| = 0$ 

i.e., 
$$Tx = z$$
.

Hence, 
$$Sx = Tx = Ux = z$$
 (19)

That is z is a point of coincidence of the pairs (S, U), and (T, U).

We shall prove that z is unique.

Suppose  $z^*$  is another point of coincidence of these pairs.

That is, 
$$z^* = Ux^* = Tx^* = Sx^*$$
, for some  $x^* \in X$  (20)

Using (1), (19), (20), and using the fact that  $\lambda < 1$  we get

$$d(z, z^*) = d(Sx, Tx^*)$$

$$\leq d(Ux, Ux^*)$$

i.e.,  $d(z, z^*) < d(z, z^*)$ . Which is a contradiction.

Hence,  $z = z^*$ .

Thus, S, T and U have a unique point of coincidence in X.

Suppose, the pairs (S, U), and (T, U) are weakly compatible, then from (19) we get,

$$Sz = SUx = USx = Uz$$

and 
$$Tz = TUx = UTx = Uz$$
.

Therefore, Sz = Tz = Uz = w (say)

Thus, w is another point of coincidence of S, T and U.

Therefore, by the uniqueness of point of coincidence, we must have w = z.

Hence, there exist unique point  $z \in X$  such that Sz = Tz = Uz = z.

Thus, z is a unique common fixed point of self mappings S, T and U.

Similarly, if  $S(X) \cup T(X)$  is a complete subspace of X, then the self mappings S, T and U have a unique common fixed point in X.

**3.2. Example:** Let  $X = \{1/2, 1/3, 1/4, 1/5\}$ , where  $E = \mathbb{R}^2$  and  $P = \{(x, y): x, y \ge 0\}$  is a normal cone in E.

Define  $d: X \times X \rightarrow E$  as follows:

$$\begin{cases} d(x, x) = \theta, & \text{for all } x \in X, \\ d(1/2, 1/3) = d(1/3, 1/2) = (3, 6), \\ d(1/2, 1/4) = d(1/4, 1/2) = d(1/3, 1/4) = d(1/4, 1/3) = (1, 2), \\ d(1/2, 1/5) = d(1/5, 1/2) = d(1/3, 1/5) = d(1/5, 1/3) = d(1/4, 1/5) = d(1/5, 1/4) = (2, 4). \end{cases}$$

Then (X, d) is a complete cone rectangular metric space.

Now we define the mappings S, T and U:  $X \rightarrow X$  as follows:

$$S(x) = 1/4, \text{ for all } x \in X$$

$$T(x) = \begin{cases} 1/4 & \text{if } x \neq 1/5 \\ 1/2 & \text{if } x = 1/5 \end{cases}$$
and  $U(x) = x$ , for all  $x \in X$ .

It is clear that,  $S(X) \cup T(X) \subseteq U(X)$  and (S, U) and (T, U) are weakly compatible. The inequalities (1), (2) and (3) of Theorem 3.1 hold for  $\lambda = 1/2$  and 1/4 is a unique common fixed point of S, T and U.

## 4. REFERENCES

- [1]. M. Abbas and G. Jungck, "Common fixed point results for non commuting mappings without continuity in cone metric spaces", Journal of Mathematical Analysis and Applications, 341, 416–420, 2008.
- [2]. A. Azam, M. Arshad and I. Beg, "Banach contraction principle on cone rectangular metric spaces", Appl. Anal. Discrete Math., 3, 236–241, 2009.
- [3]. A. Branciari, "A fixed point theorem of Banach-Caccippoli type on a class of generalized metric spaces", Publ. Math. Debrecen, 57, 31 37, 2000.
- [4]. M. Fr'echet, "Sur quelques points du calcul fonctionnel", Rendiconti Circolo Mat. Palermo 22(1), 1–72, 1906.
- [5]. L. G. Huang, X. Zhang, "Cone metric spaces and fixed point theorems of contractive mappings", J. Math. Anal. Appl., 332, 1468–1476, 2007.
- [6]. D. Ili'c., V. Rako cevi'c, "Common fixed points for maps on cone metric space", J. Math. Anal. Appl., 341, 876–882, 2008.
- [7]. M. Jleli, B. Samet, "The Kannan fixed point theorem in a cone rectangular metric space", J. Nonlinear Sci. Appl., 2, pp.161-167, 2009.
- [8]. G. Jungck and B. E. Rhoades, "Fixed Points for set valued functions without continuity", Indian J. Pure Appl. Math., 29, 227–238, 1998.
- [9]. R. Kannan, "Some results on fixed point", Bull. Calcutta Math. Soc. 60, 71-76, 1968.
- [10]. H. Lakzian and B. Samet, "Fixed point for (ψ, φ) weakly contractive mappings in generalized metric spaces", Appl. Math. Lett. 25(5), 902–906, 2012.
- [11]. S. K. Malhotra, J. B. Sharma and S. Shukla, "g -weak contraction in ordered cone rectangular metric spaces", The Scientific World Journal, 2013a.
- [12]. S. K. Malhotra, S. Shukla and R.Sen, "Some fixed point theorems for ordered Reich type contractions in cone rectangular metric spaces", Acta Mathematica Universitatis Comenianae (2), 165–175, 2013b.
- [13]. S. K. Malhotra, S. Shukla and R. Sen, "A generalization of Banach contraction principle in ordered cone metric spaces", J. Adv. Math. Stud. 5(2), 59-67, 2012.
- [14]. S. K. Malhotra, S. Shukla and R. Sen, "Some coincidence and common fixed point theorems in cone metric spaces", Bulletin of Mathematical Analysis and Applications 4(2), 64-71,2012.

- [15]. R. A. Rashwan, S. M. Saleh, "Some Fixed Point Theorems in Cone Rectangular Metric Spaces", Mathematica Aeterna, Vol. 2, no. 6, 573 587, 2012.
- [16]. S. Rezapour, R. Hamlbarani, Some notes on paper "Cone metric spaces and fixed point theorems of contractive mappings", J. Math. Anal. Appl., 345 (2), 719–724, 2008.
- [17]. Satish Shukla, "Reich Type Contractions on Cone Rectangular Metric Spaces Endowed with a Graph", Theory and Applications of Mathematics & Computer Science 4 (1), 14–25, 2014.
- [18]. P. Vetro, "Common fixed points in cone metric spaces", Rend. Circ. Mat. Palermo, (2) 56 (3), 464–468, 2007.